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Example Item 4A.1c (Grade 5)  
Primary Target 4A (Content Domain MD, NBT), Secondary Target 1E (CCSS 4.MD.A, 4.NBT.B), Tertiary Target 4B, Quaternary 
Target 4F 
 
 
How many minutes are in 1 day?   [Click here for more information if you need it] 
 
 
Interaction: If the student clicks for more information, they get the following conversion data5: 

• There are 60 seconds in 1 minute 
• There are 60 minutes in 1 hour 
• There are 24 hours in 1 day 
• There are 7 days in 1 
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Example Item 4A.1e (Grade 5)  
Primary Target 4A (Content Domain NF), Secondary Target 1I (CCSS 5.MD.C), Tertiary Target 4F 
 
 
Gina is making cookies. The last three steps used to make the cookies are shown.  
 

Step 5: Roll the dough into balls that are 1
2-inch wide. 

Step 6: Place the balls on a baking tray 2 inches apart. 

Step 7: Bake for 12 minutes. 

This recipe makes 18-24 cookies 

Gina plans to 
• give cookies to 9 people;  
• 
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Target 4B: Construct, autonomously, chains of reasoning to justify mathematical models used, 
interpretations made, and solutions proposed for a complex problem.  
 
Items that require the student to make decisions about the solution path needed to solve a problem are aligned with Target 4B. 
Note that Target 4B is never 
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Example Item 4C.1b (Grade 5) 
Primary Target 4C (Content Domain NF), Secondary Target 1H (CCSS 4.NBT.A), Tertiary Target 4D, Quaternary Target 4E 
 
 
Part A  
A liter is more than a cup. Estimate the number of liters in a cup. You can use the picture to help you make an estimate.  
 

 
Enter your estimate, in liters, in the response box.  [  ] 
 
Part B  
There are about 0.24 liters in one cup. How much greater or less than your estimate is the real amount? 
 
Enter the difference in the response box.   [  ] 
 
 
Interaction: The student must select an estimate for the number of liters in a cup before seeing the actual value and cannot 
change it once the actual value is shown. The students’ estimate does not factor into the score he or she receives. 
 
Rubric: (1 point) The student finds the difference between their estimate, a, and the actual number of liters (|19-a|). 
 
Response Type: 
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Example Item 4C.1c (Grade 4) 
Primary Target 4C (Content Domain OA), Secondary Target 1A (CCSS 3.OA.A), Tertiary Target 4B, Quaternary Target 4F 
 
Sarah is helping her dad make cookies for her class using a recipe they found online. Her dad asks, “Do you think one batch of 
cookies will be enough?” Select all of the information they need to answer the question. 
 

A. The amount of flour in the recipe. 
B. The number of cookies in one batch. 
C. The number of students in the class. 
D. The temperature of the oven for baking the cookies. 
E. The number of cookies you can fit onto a cookie sheet. 

 
 
Rubric: (1 point) The student selects the correct pieces of information (B and C). 
 
Response Type: Multiple Choice, multiple correct response 
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Example Item 4C.1d (Grade 4)  
Primary Target 4C (Content Domain MD), Secondary Target 1I (CCSS 4.MD.3), Tertiary Target 4B, Quaternary Target 4D 
 
 
Liam uses string to form a rectangle with length 100 feet and width 50 feet to estimate the area of a small pond. 
 

  
 
Enter an estimate for the area of the pond in square feet in the response box. [   ] 
 
Select a statement that supports your estimate: 
 
A. The area of the rectangle is bigger than the area of the pond. 
B. The area of the rectangle is smaller than the area of the pond. 
C. The distance around the rectangle is bigger than the distance around the pond. 
D. The distance around the rectangle is smaller than the distance around the pond. 
 
 
 
Rubric: (1 point) The student enters a reasonable estimate and selects the supporting reason (a number between 2500 and 
5000; A). 
 
Response Type: Equation/Numeric; Multiple Choice, single correct response6 
 
Note: Currently can be formatted as a Drag and Drop and Hot Spot. 
 
 
 

                                                           
6 This combination of item types is currently not supported, but is planned for future enhancements to the item-authoring tool. 





Grades 3–5, Claim 4   

29     Version 3.0 

Task Model 4E.1 
 
Task Expectations: 

• Students construct a geometric figure, a numerical expression, or a numerical equation that models a given problem. 
• Students may or may not perform a multi-step numerical calculation to verify that the model solves the problem. 
• The operations to be performed should not be explicitly given, but should be inferred from the situation. 
• Students are expected to reason autonomously from a context to the figure, expression, or equation. 
• Difficulty and grade level maybe be varied by varying the types of numbers used (whole numbers, fractions, decimals), 

the complexity of the geometric figure (square, rectangle, triangle, polygon), the complexity of the numerical expression 
or equation (number of steps to build it up), whether or not it i
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Example Item 4E.1c (Grade 5) 

Primary Target 4E (Content Domain OA), Secondary Target 1A (CCSS 5.NBT.B), Tertiary Target 4F 

A school spends $2.40 on every lunch it serves in the cafeteria and $0.30 for each carton of milk.  

• 250 people at the school get a lunch each day 
• 120 people take a carton of milk  

Create an expression using this information that shows how much the school spends altogether on lunches and milk each day.  

 
Rubric: (1 point). Student constructs a correct numerical expression (250 x 2.40 + 120 x 0.30 or its equivalent). 
 
Response Type: Equation/Numeric 
 
 
An alternate (easier) version of the problem above: 

 
A school spends $2.40 on every lunch it serves in the cafeteria and $0.30 for each carton of milk.  
 

• 250 people at the school get a lunch each day 
• 120 people take a carton of milk  

Which expression represents the amount of money the school spends altogether on lunches and milk each day?  

A.   250 x 2.40 + 120 x 0.30 
B.   250 x 0.30 + 120 x 2.40 
C.   250 x (2.40 + 0.30) 
D.   120 x (2.40 + 0.30) 
 
Rubric: (1 point). Student selects the correct numerical expression (A). 

Response Type: Multiple Choice, multiple correct response 
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Task Model 4E.2 
 
Task Expectations: 

• Students choose between two or more different models to solve a given problem, between two or more problems that fit 
a given model, or between two or more different solutions to a given problem. 

• Different models or solutions can depend on different (possibly incorrect) interpretations of the problem, but do not have 
to. 

 
 
 
Example Item 4E.2a (Grade 3)  
Primary Target 4E (Content Domain OA), Secondary Target 1D (CCSS 3.OA.D), Tertiary Target 4B 
 
 
A large water jug holds 24 liters of water. Nan uses it for her animals. 
  

• Nan fills 
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Example Item 4E.2d (Grade 5) 
Primary Target 4E (Content Domain NBT), Secondary Target 1 (CCSS 5.NBT.B), Tertiary Target 4D, Quaternary Target 4F 
 

 

Molly and Sam need about 2 pounds of apples for a 
pie. Medium apples cost $0.45 each. Large apples cost 
$0.65 each.  

Molly says: “Let’s buy the medium apples, they are 
less expensive.” 

Sam says: “I think it’s less expensive 
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Rubric: (2 points) The student selects the correct numbers and words in all of the drop-down menus (6, 4, more, Sam)  

(1 point) Student identifies the correct number of each size of apple needed but does not compare their costs correctly or 
identify the right reasoning, or the numbers of apples are different but their cost is correctly compared and the correct 
conclusion is made about who is correct in their reasoning based on the numbers the student chose. 

Response Type: Drop-Down Menu7 
 
 
 
  

                                                           
7\Drop-
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Task Model 4E.3 
 
Task Expectations: 

• The student makes estimates to solve a problem and then has a chance to improve the estimates. 
 
Example Item 4E.3a (Grade 5)  
Primary Target 4E (Content Domain OA), Secondary Target 1A (CCSS 4.OA.A), Tertiary Target 4B, Quaternary Target 4D 
 
 
Lilian wants to estimate the number of marbles in a glass jar that has a mass of 2.3 
kilograms when it is full.  
 
 
Part A: 
Make an estimate for the mass of a single marble, in grams.  
Enter your estimate in the response box. [   ] 
 
Make an estimate for the mass of the jar, in grams.  
Enter your estimate in the response box. [   ] 
 
Estimate the number of marbles in the jar based on the assumptions you made.  
Enter your estimate in the response box.  [   ] 
 
 
Part B: 
The jar has a mass of about 500 grams and there are about 600 marbles in the jar. Which of the following estimates is closest 
to the actual mass of a single marble? 
 
A.   2 grams 
B.   20 grams 
C.   200 grams 
D.   1200 grams 
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Target 4F: Identify important quantities in a practical situation and map their relationships 
(e.g., using diagrams, two-way tables, graphs, flowcharts, or formulas). 
 
Target 4F identifies a key step in the modeling cycle, and is thus present in the majority of modeling problems.  
 
Task Model 4F.1 


